Early Success in World War II: 

Blitzkrieg tactics were used by the Nazis to amazing effects.  Literally translated, it means “lightning war.”  It was a combined operation of air, mechanized land forces and infantry (sometimes paratroops) to quickly overcome the enemy.  How successful was it?  The Nazi forces were able to achieve in weeks what was not able to be accomplished in four long years of WW1. They conquered most of Western Europe. 
How, why?  Besides Blitzkrieg what else contributed to the success:
-The Nazis were preparing for war while the other countries of Europe did everything to avoid it, when war broke out they had a huge head start.

-Every country thought wars would be fought like the previous war (WW1), which was defensive and a war of attrition.  France, for example built what amounted to a super trench along its border with Germany.  This was called the Maginot Line.  It was virtually impenetrable, at a cost of billions in today’s dollars. .  
 The principle behind this strategy was that the best way to defeat an enemy is to throw a massive assault against the enemy’s weakest point and cut them off from all supplies and communication.  This was achieved by;
1)   Enemy headquarters and communications were bombed by artillery and bombers. Parachutists dropped behind enemy lines to cause panic.
2)  Tanks and infantry punch a hole in the weakest part of the enemy frontline encircling enemy strong points.
3) Troops following up cut the enemy off from reinforcements thus forcing surrender.
